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This is a variation on this pattern.
Abbreviations
SR Split ring B bead
vsp Very small picot SCMR Self closing mock ring
T&C Tie and cut Fvsp False very small picot
SS Switch shuttles cl Close
RW Reverse work Ch Chain

Materials required

Thread - Size 20 thread, 2 shuttles. This will give a star measuring 134",

Wind shuttles CTM with 1 yard on Sh1l and 2 yards on Sh2.

Skills Required

Knowledge of rings, chains, split rings and the self closing mock ring.

NOTE - beads can be added to all the picots. 36 size 11 seed beads would be needed..

Centre Ring
CR: 2vsp2vsp2vsp2vsp2vsp2Cl
Round 1
SR1: Fvsp 2 /Fvsp 2vsp 2 -2ClIRW
*Ch: 1
SCMR2: 2-2SS
R: 2-2-2-2CISS
SCMR2: 2-2Cl
Ch: 1RW

SR3: 2+ (nextvspCR)2/2-2CIRW
Repeat from * 4 times
Ch: 1SS
SCMR12: 2-2SS
R: 2-2-2-2CISS
SCMR12: 2-2CISS

Ch: 1Cl
T & Cto vsp SR1

For further help or comments please email me.
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